foo Bdanch Dt Davath 1 asi 3 aeel sebedt the eorrect mswer usiog the e
givem belonw e fists
Lose Flase i1
thcongmall
A dynamiz <urnlis I Teserh sehunpet
T Profis as a rowand 20 M Raleck
0 dntreddioe mmmvions
L. Profils as s reward 3.0 L. Knivhe
for ancertainty bearing
B Profirs arise dus to menopoly 4. 1B Clark
e enpovead by e Prochiice
Clade
i ] [ ]
{a) 1 ] 2 4
{bd 4 I 3 &
{c} 2 i | L]
[} 4 3 1 ?
2 MWhich one el the Sllowing pars s mef coriclly matched with
regacd fe hadance of pavments accoumls #
(a)  Impen of soads 4 Prebat in e curvend
At sorvices aceounl
{h} Receipls of Clreadil in Lhe
Iransfoe pa currcnl aceouni
(Gl dhrect mvestones) - CredilL  in e
receipl capital secount
(1Y Portfolie = ebil in the currem
imvestiment peyments hli ittt 14
3. Which of the following w'ane ivplied by Lhe dectrine of unbalanced
wipneih 7
I Unegual developsiem of vanous sedors often gencrates
conditions for rapil developmem
2 The aavestmant should be digpersel cver 2 wide ranme of
industries.
3. The goel of complow balagce in the coonomy 35 mot ree sod.
Melecr the correel answer using the code siven below
{2} T omly thl 2 o 3 oonby
{e) 1 und ¥ oonly (Wl 1,2 amd 3
4. Which  of e Jollewing statcments 3o conect ¥
L. Laspeyres™ fndex generally shows or e bigs
2o Paascly adix senerelly shows an pwe b s
3 Lasemeymes” inden pencrally shews s ewar hias,
1. Paasches Index senerdiy shows ado. Lnd Bies
Selee the  coprect  seewor e i oods piven kelow
(ay b ound 4 ™)1 oenly
el Xarl i 1w, aru)
5.
3 fm, :
% l \
5 T
_ h \
al Wy, g
R e
Unantty of banung
tn the gbove fipene shewing hodget lines, & corswmer waz initially at
potnl A There was a price eliange amd she meoves o pong B
ol boes, thiat
{u] bananas are s rormal pood
{b]  hanamas are an inferior good.
{c]  memyoes are an inferior good.
(] the consumer t3 confused.
6. Price disciimination may be possible when

i

.-. -

£

[ the ratare of the commedily or service is such thar thers s oo
powssibility of transforaice Trom one markal o e other

20 the iskels are separaled by faree distance o tanF hamers

3 several grovps of buyers requine the e service lrom clearky
dilTerentiabed comimadthies,

4 buyors are well infvmmed and rotional.

Whacr ol the slatermenls siven above are cormect ®

{a} | and 2 only |, 3and 4
fu) 2wl 3 oonks Wy 1.2 amd 3
Suppesy, spot e of dollar todaw in Indin is Rs. 42 an” © sonth
Focward e is Bx 48 How con an Indian vnpurter whoonas oy
3200440 in 3 monthy” Ume, hedge his foreign exchange ) - 7
(ad  Theis is Ao Ask. rupee is quite stahle.
() Foe anepocter should enter icdo a forward <o tractto . Al dntlars.
{c] The snporcr should buy his requited amo. ot of do ars pakey
only and hold it for three msmhs.
[d) The impecter should enter Tnte  forwa © contracl 1o bay
dollars.
Influlivin helps in redistabetion of ncems acogh
() proportional change in we. [ ever hing including prices of
wimets und debt mnstrur s
{t} drproportional Rengy oricey of cverything including prices
ofagsely and d .t instrum.
{c} rising priecs ¢ everyth. ¢ including prices of assas and debt
inatrume -
iy Falling price levi pdnng toclnding prices of ssscrs and debl
MEF P e
Taud | ank s eme 8 Sesipned o
fa) R comare ceecoiraled efiort ol 2 benk in a particular district.
TR H | the  achivitics  of non-banking Anancial institulions,
(2w oo woeker seclions im o partenher thistrrer.
T ropcate the wse of credil
Ta ewistenee of 3 polemsd orofe o wnemployment sepoests
thal
i thars i no inflation-umeipliient trade-ol1s inthe Jong
i
(i) momnnal sage increases dag price ia the long mn
{c) peminal wage mereases lead price inthe Bng run,
fd) U short run Faldlips carve §8 sleeper than the long mon Fhallips
LUy,
Ceonsider the foltowing mformation
Irvestment  Initial inveslmenl st Sevond
i nariod yaur year
pav=nff  pay-ndl
A Rz 3,000 2 vears Hs Z,5060 Rs 3,500
I} Re, 3,060 2 wears Rs 2000 Rs 4,000
If the cast oof capital (rle of interest) of both the imvestmants s
10% per yeor, which one of the fioltowing is comect 7
{a)  iovestmwend As preferable
(b Jovestiment Boas preferzhie
(¢} Buth  the investments are  equolly prefcrable
() Cannot determime oo the hasis of given information
Chiven bulew ps the GNP por capita of India for the years 2008 and
2009 ;
Yoar nlsi inPPU LSS
208 £20 3. 106
2004 T 3.460
From the miformation given above we may conclude that during that
reriod the comt of living in India in comparison to [ISA has
{a) increased.
(b} decrvased,
[e}  remzined the same.
[d} cannot be conchded on the basis  of given information.
Suppose, nominad GNP i the vear 19%0 was Rs. 104 hiilion and in

the: sviar 2K Bs 360 billion. Droring this neried the GHP deflaror



AEURSEROLA LS LAR EPLFMR 4 SNCEVRLLRE LR PRl B PN S LT J"‘:l_-l CAEI TN BRI
secriape 5T @ of grovaih of een] TN s approsimately

{a) 1% (b HM

o) 153%

1y cannol be caloelaled on the bass el given inlormation

14, Ak e basis of the febluwwing informmation about firms A znd B, identify
suith the halp of the code giver belose, the value addsd by Tnns A ang

I} respeciivaly, L‘ﬂﬂﬁi-’h‘.l’ii‘r; that 1he coomemyy his oy thexe Do

Timme:

(it fe derdhag

Faports by finn A 4

Imports by finm A 10

Sades wr hoenseholds by firm A is0

Salus to tiem by fimm A a0

Sufes to firm A by lirm B 3E

Sates o howscholds by e B 120

Cade ¢

{ab  Ks B4 lalboamd Bs. 100 akh

thl Ha 200 laklr asnd g3, 1280 lakh

fe] Ha TGO lakh aod ®a 1347 kb

el R 30 lakl and e, 8240 [akdh

L5 Is there any dilTessnce betveon fomwnnd ard Satires nprhets n firadgn

e hange )

(1) Mo, bothodeal with latare defivery of forenp unichange,

thy Mo, bawh moarkets eon Be availed of by |C|l!],1h(!i,'-£_‘,'$ “over b
counler™ of 3 comzereial bank,

ter Yes enly a fimited mumbes of surrencies are raded 1 the futores
mazrket wind that atso im slandedhized pcwonnts,

Ll M, ot one aarees we the b of delivery and Broherage, 1 is
immaterial wlich of *he markets one is whking of

[h. Dl Ricardian thuury discuss the determination of

mltemanean] price ratiee 7

() Moy oely talks abew specializaion in preduction amt (ke
thanry stops there

(B)  Yes, the pre-trade prices will provail

2] Yes, theimporters and vopoaers il geeide iianmek bilates|
Laths

{dl Neoivwas lelt for 25 Mitlw bring e Low of reciprocal demsane
o welbhe prigas

Ve Ihlance statomend of XYY Bank i5 v below

Aswets fi Leapifizicy R

Husevos HIL0D Dz [ 30,800

[ thiars 12,0

Secunlivs L 10000

Assurmarm a cash reserve yauo o 395 how moeck gose serwe wond

thiz kank have aficr o cicgue of Bs 2000 % < ¢ an sd cleared

awisnsf v

{a) Rs 8040 B Rs 200

(e} K= |0 (4, Rx |590

13, Uensider the following stateme

1. fonger the ime prodieers g to .~ acpostment in the Jevel
of ouiput in fesponss ot G WLes in prics, the peeater U
clasticity of sepply.

2. Sharperthe ¢ha i weial cosl, fesser clistic will be the
supply o poaput,

Lo Ifinfraseac facVites amoavailable for espanting outpat,
the elastiv. ol s, a0 response o Lhe rise o poce-will ba
relag ool -

Which ol L » 2. =nls psiven above isfure cormeet 7

fa) v - b} Tand 5 oonly

{c] tamd., Iy ] 1. aed3

19, The reeent global financial turmoil has adverse fmpact on the Indian

finunctal markets, particolarly the equity mrarket ad the loreipn

¢xchange sepment However, the hanking sector has no! been

significantly impacted by these developments Which one among

the follrwing i the main reason behind this 7

(a) Comfonable capual adequacy ratio, asscl quality, profilability
indicators and lower nun-porferming sssels

) Fiscal sumwnlation package announced by the Central

=N

.

(L)
-1

et}

3.

CHUVEITMCAL T8 S Scetoel idastoes
{£} Strong foripn exchange reserves ol the Reserve Bank of india
Gl Muore credis by the Banks (o the housing and real estare secior
Repional dispasity in per copita inooee w India fes incroased o the
pustrefurmn peried “due 1o many factors. Which ameng  the
Tollowing factirs has wer conribated o the growth in such dispanty
) theline i the share of publc mvestpent

b Change in palivy repime repulating invastment locations
{er Pour governance and pos infrasirzenre

5 Ablecation of Centeal Diovemment fusds though the award of
Fisanee Comnisaion

A eepsimer purchinees 8 units of a compmodity when iis price is B

b per usit ad purchazes 43 unils when its price nses 1o Bs. 2 per— 1

What is the price clasticity of demand for the commdity cal olar,

by Arg clusticity fornwla *

{a) 079 by 1.50

(c) 200 {dy 1.73

Canstie: tie follow ing siatenemts ahont defcient ¢ marl

B Defiesont deman:t exists when sggiepae © ane o goe 5 oamd

swvices (alls shoet of apprezam suppt of cutput we.on can be

prindeecd by ully emploving the given . sourocs s e coonnmy

Dreficient demand boweers hoth outpait sne. sale aent and pives

rise o unemplayment of Labour

Which of the slatements given vy vare trool ¢

fa) I only o T only

{cy Both ! .md 2 () Heither 1 nor 2

The rowth provess ihy o sestarinee. o vighds browd-based benelis

and ensures equality o apporta 1y for all s teared s

fay  Faster grow-* () Inclusive growth

fo) Hakemcs row ) Sestabned srowth

e anticn b et hatie o bee profiteble even 37 oo

of the ra sation canr oduce both the commndities npone eflicieatly

thai s Yier om. i5 the @l of

(" “bsoe o cost advantage Hoom

fe) £ smars we cosl ddvantagrs theory

0 Eppe uriny cost o fheary

Gl Vaetor-endownent ooy

Giwar o corvilinear dediand conee bl

Trend eurve, the poinl e

(] o Lhe came.

(h) a5 akiFerent

(€} can he e same or diflorer

[y enpmol be wilorred withow eddionz] mlormation.

M smsuEier spends 2l Bis income,

i = R, LOO0, o0 b moods, wand v The price of & is Rs. 5 and the

price ol y is e 200 His demand funciion for good x s piven by 2m f

Ape I the price of 1 falls w K. 4, Bis derisd for x goes up o

fay &l wnits b)) B0 units

[oy 100 upars (st 124 wnirs

Which ome of the fullowing is a transfer payment 2

(1) Met facler incoms camed T abroad

&) lnlerest o pahlic dobt paid by the Government

{¢} Donus o employees by (e zovernment o enterpeises

(] Employers™ contribution o comtributary pravideot fund of
cmpluyess

When Reserve Bank ul India purehases 3 s, 100,000 bond fram an

investment dealer and thatl deader deposits the proceeds i a demand

deposit in Bank, A then Bank A%

() wxcess reserves mse by Bso 300,000

(k) total rescrves rise by Rs. 100,000,

fel  lending capaciry increases by Be. |IHL NN

{di  bond holding increnses by By, 100,000,

Credil will contract when

(a)  bank rate i lowersd

() buok rabe isrased,

() rescrve requirement ratio is lweeed.

{d) wpen market operslivns policy of baying povernment bond is
acdopied.

Arranfie the following murkets according to increasing degree of

e

N TEN

s danpenal i straighl Lo
snrd 28 The point of Tangency

sheiby of dem



CArrier Lo &nlfy nto ihem o

i Monopaly 1 Terfect compalition
T Mosepohic comoetiiion 4. OlEzopoly

Seloet the vonect answaer wang the eode given belos:

tap 1,305 4 ] BE= R |

(v} 2,54 fd] 3 2.4 1

fiirectipns | ie fotfovaime con pA1 irenu consent o o Sl eme s, Sttemens

Paerd Sicanveneat 1 Vi ave roczamine these nes gtatemens care fedly ond

st B s wesy T Ree (e, avnase M onde riven Sebow

Code

fay  Noth the statemenis are bividodly rme eod Stalemens 1§ 0s the
correct explanation of Satement [

i) Hoth the stowements are andividual ly troe, bus Statemen s aod the
correit exeplanation of Ssement [

(&) Stmtemem oo oo, but Satement s false.

[di Statement | & lalse, bt S1aterment 11 s true.

Hothe Margisel Cost MO cumes is 2 horivontal

sirgaehl Tioe, the eqguilibriom of 2 firm onder

prerleet compelition Tomass Indelenmingte

Minpmal Eevemue aoeve abwiies remins ahove

thie LT curve

Allin

AT inrcome resafs La dover demen:!

ler an inferion gl

Tortezl Cosleuree is Fist concave and :ln coonves

a3l Nrrtemont 1

Sterieemim 1

B Naiewem I
Neerierend 11

fnreor goesds s (i oo goesls,

T

Slosemeni ]

oo

friom below.
Sorpgmreed N, Liaw ot varioble proportion operates in
JHALITTHYITH
Foicign frvesiment may affecd a country s
capor acrfnmmoamee ,::jus_',-r\'x-.if
Inllow of forcign exchange may cadse
fion el lncal currency leading 1o fiss i

39, Nererreod f -

Seatemome

ag i
the price of expord commoditics

3% Nictemest § I s ol Bepadaly Im, Tiouicily profiemnee coivs

becsmes Docieonlad al a wery fow Jovel of

interesl rake.

Ligpaidity prefeosnee curve shows a pegative

refatinnghip between demand for monpes ~agd

interesl ks

fnlant industry srpurent is sdvocated i apr

o nrotiribmdam indntcmaetional  ade

Inlant industries reguiee tim= i nderpo

T orame

Nicirer s H

b Muteaent f

Sealemens 0
nrocess of learning-by -domyg
coanpobilive in the long

Direcaings 2 The v there (1) ome ore bagedvr #e Jo' awing . odvction
posEibalines dain for Tedia and Bunpladesh, 40 Yo ore tons -

Producticn pessibibises foe In s

A B £ o g
e 1243 o0 it in 1]
Pois g Ed G, R
Prodocting nsan, 4 for Bansladesh
A K 15 I E
deu 44 oy 2 1% 1
Parts [ kLU L% il 124

37 Whichooe ot 'l vipg bs most suitabic 7

fal I dia sk ddexpor oot Baglodesh bud i will ot be prefitable
fo b mw ouhons W cxelrnge pots,

i, Wi shu. s export tee 1o Bangladesh and Bangladesh should
ex, - mls e [ndia.
{e)  Papgludesh shoeuld export wa o0 Indis and [odia should expon

pods 1o Mang ladesh,

(e} Inedia shouold enport both tes and pots o Bangladesd,

A4 Which ane among the following are the lmiis of the terms of wade
bulween India and Banpladesh @
tay llea=| pocto | te3 = 3 pols
b)Y 1 1ea = 2 pals o | tea = 325 pots
fc} e =3 pols to | tea = & pots
(g} Preas=2polsio ] ea =6 poty

R

A8

4

42,

4%

46

47,

Assumae Lhal, prier ty speciabizabion and itade. India and Bangladesh
hoth chose produchon passibilily 'O Mow iFeach specializes scoondng
e cotnparalive mdvariage, the resulting geins rom specializaieon
une trade wild b

) Mt of 1ea and 30 tons of pot:

(b} Al tomx of s

{e] 2 rons of wa

[d) 28 s of 160 and 2001005 of puts

In the long ran, the enst and sulpet relstionshin depends on

{a]  nAums W scale

Y fsed proporien of the vasabios

iel  raurms Ioodlae variable Gactor

{d)  retums 4o the Nacd factor

The zocelerstor moded predicts thal the changes mosmve rren. e
desgrrmined by the chapges in

{2} Ohatmnr [F) Irderest

{0y Capiial () lavent ¥

A Laifer Cerve indieses

(2} the relationship bolweer presey o ca ene devel

difivren? soges oF inliation,

(b that aboese o eertain wx orde,
seduetion: 1n L revenuwe

(0] o postleve relationship bafween tax rovence and public
expendiznre.

1 pegabve relutionshic e’ seet Yigh rates of incomee vy and

in\:r\‘.a!;l vI't IR L i LR

s f pvas o0y
Prsteh i nses !mp!" A
(a} the approciat m wi @ stioe's curreney resulting from the

[}

"‘:g‘ loss of internntionb -L‘.u|||p'.:E"li|.'t.'!1{'.':{> 11 the

wxpbndts afa e gesore b was proviously g
and 1 oe ey
s T adin L seclor

Bt depe <iw n of a nation™s surrency resulting frone the
& lonfalica ol @ demestic resouree hal wis previousty experted.
A e resubueg Toss of intcrnnznead compalitivenass m the

e s exicrnal sector

el & cdbin the vabualen of Duwch curreney

1o afalliathe vaboation of | Yulch comeroey and it resollant sdverse
Enpacl on odher paticns” cHTCnGies

Which anwny the Bedlowing were she causes of decay of Indian

handicrafts dueing e Brnlish nde 7

b Dizappearance of Poncely Courts

2. Hestile poliey of the Fast ndiz Comipany
Compatition frum machine made snods

4. Gireewshoot Joint Hindw Family business

Sekoct the  correel answer waing e code given bulow o

[#} 1 and Zanky M 1, Tand 3

(e} 1 and 3 only iy 2 3andd

Which one among the fullowing is the mosl approprizte definition

of a less alewe loped nagion

tal A country with a small agricelural secior, low rate of popelation
growih and bew per capits GNE

fo) A country with 2 high population growak rase, a high ger capiia
GNP owth male and an unequal disuibution of income.

{¢)  Acounizy with insdequste health care, poor cducational {acilitics
rrd low per capia GNP

{d) A country with low por capila (NP, a lerpe population and a
smatl apricultorai scotoe

Which of the following stafements iafare oorrect ?

1. Achange i income im the 15-LM moedel resulting from s change
in the price level repneents 3 movement z2long the agproznte
demand ctrve,

2. A changa in income in the 15 LM model o = fixed prive lovel
reprosents a shift in the appregate demand cusve.

3, LM schedule is a schedils of cquilibrivin income.

4. 5 suehedule is 3 schedule of monetary equilibrium.

Seleer the correct ansmwer wsing the code piven helow

(2} | amd?2 % 2 only

fe} lamd3d (4} 3 and 4

A surpe In foreipn capital infiows in India would lead o the




4R

44

ady,

51

N
L

3.

- R T T,

depreceation of rupee.

{h]  purchase of forespn exchamee by the central bank i arder fo
prevenl copreciation of the e

te) osale of freign exchmpge by the central bank o prevem the
apprecision of e nape

(i} purchase of logegn esnchangs by the coniral bank in ocder 10

prevent apprecionion of the upee,
Structoral trmslonmiuton is that process in whick

fa) 1B conwrbution W natictal incone oy e marulaciuring seelar
inereasinaly becomaes: higher than al by e sgricubinesl sector

i the contrbution 1o salivnal income by capiial sosds s mere in
CORpLris e by Lk

{e) the contnbution to patisnal incene by fureizn investment is
More i eomarison o domestic inyestment.

{1 producteom is maindy meant for pmrsamal consampeion and oot

for tnves e
Whieh vag among e lallowine siatoiments b ocorreet ¢

Gy S tedal of the fies order defferenves from orithnerie men 13
iy ey,

(b Inoo ekt vely skewad disibotien som total of the first arder
difterosees from e medisn i3 vemn

(e} Sean totzb ol the fird arder diferences rans median i always
ik by e

{d) Sum betad of shy fran onder diffeeenees from mode s alwies

eyudl By var,

Which of the ol loawine sean

b ol vartable peopaertive

Lo Tha marginal prodect cisve s the secrage product curee it
its highus point

2. Average product curve cu the marg
tighes! peint

Fo Marginal croddrel beconses zero at e lughest point of the Lol
produc] canee

& Ttal prodyet curve & concave throughau From the onin,

Sebuel the correer answor using e eode given below ;

(a) [ uniy by Lared Femly

(e} 3 and 4 aaly fdy 1, 2end 3

Which oo apong the fellowing mes § WS Gppooy atg

corpare the depersion in nva varivbics reasurod a ditfere 0 e

vents isfare corvel according o the

al product curve al it

ol mragsemen:
(a) R

{5 Masduenoe

(b} thrarlc & s
Gl Cveliowns of v paee. 0
Whin 15 the Safeguard Clause I GALT Antic!?

(2] Bt provesi: the merest of capitalist oot

(k1 B osafegads the intervst of poorer eal,

(&) It refers w measures thay can b applied .7 cose of seriouy
injury toa tsding partner.

{d) It is related o 100107 Areass = ane revemns

Which mneof the following 15 cow ~a + seofa prisduction funcring

afthe form o+ AKTTY (Syme Lave usual meanings)

() The degroc of T ~ome uly is necessariiy o

(h} Margigal rreduc o © punis equal W its averaps product.

tc)  Riasbictt or  Seboation is equal loa 40

(4} Capital e sticity . suipul is equal to a

Uoctiick . Ton vlapon between two viniaddes 1 0-9. 11 one of ihe

varizhles o orep ul oot ather, which sne of the folivwnrg is

CurmeLL

ta} 90 per o dod the vination in the dependent vanahle s explained
by the varibion in Ui explanators vaniably,

b 0-90 per cent of the venation in the dependent varinble is
explained by the variztion in the explanatory variahle.

{ur Bl percontofthe variation in the dependent variable is cxplined
by the varation in the explanalory varable,

{dy 0-81 per cent of the varization in e dopendent varizble s

explained by the varation in the explanstery variable.

35 Which amuoag the following are the eostpish causes of inflation

1. Deficit finencing

i

5K,

e

i)

Bl

ELETEI ROy Y

-t |

Increase in mlorest pales
4. Ineroasc in popalation

5. bowpemse wroil prices
B Mounng pubdic sxpendingre
Seleet the correcl answer usiogs the code gieen helow

(at 23 5and 6 [y 2.3 and 5 only

(c) 3 amd s only W L2 4and b
Cirven {in B million}

Phrcel persomal tases JiM

Dwpreciation 230

Indivcer 1ases 20

Liowermment transfor payinenis i

Croas mvestmed R k11
Net axpnts S £ Bl
Conswmption expendilure 2 1K)
Cinvermment expenditure S04

Which ane of the followire is the vilue of nat

Gl oo e [in Ks
ML o)
(4] 2910 ) 250
(o) 2328 () 700

Which ome of the follewing  sateme. cortec] in cuse ol
censland foums t oscobe 7

in e dows of [TAE[TLERILITTY

(a1 Leng min uveriggs e (1A | e
paints of short nm 2w we cost SAL) curves,

ih} LAC is Tshs e

(e} LAC s greal rhan the tony rus margnal cost

(d) LA evincide wath the wirbeoral axis,

Which onc el el siatermends corfectly deseribes the

refationsh’ hei o s multplior and accelarator

L) 17 thahe o ihe o of ehange inomeome oo ivesbnent,
tod bl b efTewt of ehanpe 10 investisent on toone,
d0d 0, Mipdier stews the cltoot of chanoe D eomue on inveotment

and - cccleralor thaws dibe cffedt of change bnomyesinicnt on
v ORI,

W Mudtiplice shows the clleet of change is hivestment on inesme
and actelerator shows the oflzot ot change in incoms on
investmant

Lisven the iotal cost as O the price of labour 11} as P . price of
capilal (K] as Pi, fromm

which ome of the follewing fanciions, vunan se-cost corve be drawn
-

(@) K CFg + (L)L W) = O+ ()
() CEK I By W L~ Uiy - (PR
Which  ene  of the  lellowing 15 the imer-guanile range

for the piven data ?

15, 48, 55 5865, B, 7276, 7R, 79, K1

{a) 3 iy 2D

{c] 33 (23

Which one ameng the fodlowmg s muer pan of the stimulus packapes
awardud by the Covernmen of [ndia in the year 2008 - 09 to belp
expert seckor m general and same seoors afTected or [Tely 1o be
aftected hy the global meession in panicular ¥

tal  Inclusicn of handicratls ems in Vishesh Forishi ad Gram Udveg
Yopang

1t Constitutinon of a high love! commitres for Fast track resolulion
ol a minber of procediral issiees W reduece defays forthe experters

{<}  Keduction of excise duty acress the board by 4 per cunt fur all
prvslucts including peumlcum products

(d) Hxtension al export obligation period against advance

Authwnzaieon up o 36 months without payment of compesition
fan

62 If you take the arithmetic mean of the Laspeyres” and Passcha's

h3,

price imbices, you shall ger

{a)  {xobish-Bowley Price Todex
by Marchall-Edgeworth Price Index

{c)  Walsch Price Index
(d) Fisher's Price Endex
Consider the following statemenls abow trade finance



Lransactions (mistly shori-lerm orodit) in the workd T Immiswrsing, Crowth 4 The cffcet of growth vn werms of
T The recen global Boancial crisis has inpaized e gecess [o Iramf
Irade finune, Ciode @
% Prewlaped coomomit are el valucrable Lo ihe shwarlaze A i L 4]
trade Lnamee. ia) P 1 ! 4
Which of e statenmoly wiven above isfare sarrect i) q | 3 2
tah 1 ool (b 1 oand 2 anmly fc) 1 [ 3 4
tey 2 and §ounly [dy I Famli i) 4 3 ! 2
G, March Liscl with st 1 and seboct the correet @mwer using the code 70 Mel Marional Procuct ar Market price is higher than Mey Nationa)
grven beiow the lists {where B elasticily ol sebstimiong Prowiuacl at Factor cost if
fast s M {a)  Government subsidies - Indirect taxes
A Kinked jsoquant o, oW {bi  Government :;uhq!riin-s it Iud!-rm-.r tases
5 Dowasvand sloping siraishi 3 L‘ - e} t_idwcmmcm subinfics — Indirect tases
lirie isoguant Gl) Giovemment subsidies 5 Indirect 1ees
o Cobb-Doaglas tvpe vioguant 3 e e i ;ank w".“m ¥ liu"fmf[}ed i India he a5y em ol
i f)\;\l.'ﬂw;“d- sll.:ur_r;;]g]:-iuql.l;ll:l B ey I'-_-.-w_lim'.er prim bending cars which is charged lll.‘ sbame vt ooml
Code - 7 K cr:q’i_:lwm:l:}' customers and all b.an'-c [nnns. AC R uld T uquu.l L
S i ¢ b or hlgj:u:-r lh'l".“ Lkt EI*.n:r‘.:;hrn.-lrk_ primge kendic tes Uthe © lewing,
(a} ; : 1 4 what m:_i::nmr:-.m l.’rll_s g of mlru:'c.#l 2 ]
(h] ; 3 i 3 fa) 1 i e by Ahe Rc:--jr.'r-:f: Bark of !I _‘|;=_
(&) 3 4 . 2 m H b ity r‘-tTnl:xI y l_.‘1u Slimitey of P e
) 3 : i : {r) 'Tl =‘.ctcrn1n'.-.?dl by [ bant concenied )
63 Which onc of the folliing (s aer an objective of food munsecment £ 15 meal iy 20 el bkt s P sinpls
i India * 2 = = aril demamad or croedi
B . . i . T3 Canital godsds
{4 Procuremend el foodgraing from farmers 20 remunerative poices d 2
thd  Drisiributiver of foodgimns o the consumers, particalnr 'y b v
vilnurable sections of te ooy, at slTordable prices i___
{e} Bxper of Foosdprans 1o canw Forwign exchange i) B o
(ll Masetenanes ol feod buElees Tor Frod seoorite pad price shabiliy 2y P
G, [ the production Lt for el @5 given ag O 0 28K ¢ 7 ; J E \\”
wbere £t lokal ouipat, K refers o guantity of capilal and 1 rofems o :‘" ! \"uq
quanity of labuer the nareine prodise! of debour i piven by | i N 5
: £ e
L '1 b} 2\‘}? oo+ dimerem given ebove. the prodaction prossibilite cunve shoas
il that
{ 3 awstion which preduces at point A rrhor thian af painl 8 could
s, {dp 2 expeat a e rapad rate of growih
= W a pation which produces a1 poml B rsther than s point A cewld
6% in Indiz, the share of apsiculiore in GDP basdeclined ot vy . expect @ more eapid rare of zrowth,
Falc i Ui récenl years, This s dun to {c) thers is a mepaive telznonshin between tatc of growlh and
{a) Iack of drversiBration of eral coonomy. ouipul,
Lo mivwe woowtle i ibe poices of spriculwesl amwy girhes (d)y amare gresath 15 possihle anly when there is outward shsfi of the
{¢)  saturation of emplaymint appemnnitics o agr lure sector CLEYY,
1) wvery slosw praneth voae of agpriculture and a of growthof 73 For a poasively skewed distribution, which ere of the lalluwing is
other seclirs. tree ?
S8, Consider i Fellowsap derand ¢ e a {the poants marked oa i (2} Meun = Mode < Median
B} Mecan < Muedian < Mode
S i {e] Mean > Mode = Median
3 Ce T ke {d)  Mean = Median > Maode
= G T4 Wihich ofthe foliowing  stalernems  asfare comoel ?
o L FDM o Imadn under the sutomalic rate does ol requise pror
L ) eppravel cither by the Governmenl of lndiz or the Reserve
i g st Bank of Indis,
Armangeth ot 6 'nis shown in the abowe praph according 1o their 2 !nv_::atnrs_ are tlnl}: equired o aotily Lhe t;n[_n:urned repional
incre: Tam v Tue s, Aint elasticity of demand (in absolute sense u'“'“'_"" uf RBI before receipt of inward remitiances and file
wiing the v = iven below: required dovumients with that ofroe before the 1usue nlshares o
fa) a8, (b} &, a.a, 3 ~ fareizn msestons. . _
(¢} a.a.a,q, () A, 0, 8,0, Select the Corect answer wsing the cu}je civen baiow:
B9 Mateh List Pwath Last 1 undd seleet the cormect answer using e oo iy Jenls by 2 culy
piven below the Jisls - i€) Doth 1 and . {d} Neither 1 nor 2
List  Live {1 5. Whch ofthe following stacments  isfare correct 7
A Bybvoynski Theerem 1. The effect of tardff on factor prices When with a fall i pric of 2 commadity total expenditure
B, Mewder Elfea 2 The effect of faclor growth on 1 fiﬁcrfﬂ-‘u‘-". the  demand  for  the commodity is elastic,
productian  and srady 2. incrcases, demand for the commedity is inelastic,
. Stolper Samuelson 3. The effeet of tarifls an dermeste 3. remains gonstant,  demand  for - the commedity is unitary

elnstic,



T8

A0 Which of the [ "own - ar

Bi.

() Yonly by & amd 3oonly

fcy 1 enly [y 1 3and

The rickle-dewn theon

fay states thal hydiosleclne poogiating staliona arc the st
cfftcicnt tourecs of power lor deveioping natioos.

(b i swgpeested by hevne: sehen be mobed thal an o neocse m
inesiakent ik les dovar 7o the vesn eof the ceonoany ok bopess
AbIE Anyamerease 14 i

e} stares thal as incresse i per sapata Income il cvengualiy

increase e well-beine ol abl sepments of soctery ag il oiekles
divwn e these proups.
) i hest gderstoned by analyfey the coonomics of the thind weeld
CONINITiCs.
‘i one of the followng 5 lime reversal 157

2-_: g,

¥ i
e T T, CU TR P
I||q|.|
1) Pyt Py Wy gy = |
o
“
4, i
: |
i
| -9
P . - b S £
rae i
fanraaryldy chamansion ol

Clomraicdior the e given abeve, Brmedly all soosimers vare clcipn!

for itz product ot prce 8 Wik wall be the Jess i the enmsimer

sarhz, o the diseriinirating, moscopolist inereases e price o poinl

i fer g nich consuryn and continees to charpe tic others at the

ek| mrioe

{a)  Area oplien {in)

o) A rpin ()

Cersidor the leilewing stalerents @

| While imder perfect competition e cquals o
the cquifibeivin autput, mder monepaly = ilhrion price s
groater Hhas marginal cost,

o While the perfectly eompslitive Fon an aw | rua, can
ks seperigrmal profit, 4 metepedisl o oable o anake oaly
rormal profis.

. Under owonopely, price 35 biehier ol gide Caanallor than ander
pertict competition, assum . os sonditings in the fwn cases
los bne Che sume.

Ared unina
A b

ot

Which of the staternents fven o - isfsre correc 7
[al 1 oand 2 only ) 3 only
ey band 3 oply {dy 1. 2and3

oassumplions of Heckscher-Olibm

theorem

. Boti the y wdieet s factor markel o both the cramtries are
char. . ‘v hy perfect campetition

z e of o disetion are perfectly mehile within the country
it = hile betwoen countries
3.0 Tacwors of production are of identicul guality in keth the

oLy,
4 lactor supplics -in eacl couniry are Qexible.
Setect the correct myswer namg e code prven bebuw -
(a1 and 3 oonky (hy 2 and 3 only
fer 1,2 and 3 (dy 1,7 and 4
Whech of the followiag, statemends regnrding incidence of rax tafare
comeel 7
1. N the domand fur 3 commodity is inclastic, its price can he

X

87,

58,

w4

S

I 9he demamd for a commedity is clastic, burden of sals ax

may he shifled partly wothe consuner,

I the supply of a commodizy is perfeetly elastic, the gntire

Eurden ol ihue tax wall be oo the seller.

select e cormect answer using the code piven below -

@) laonly ) and 2 only

oy Fenly ey 1,2 and S

I nativnal moeome secounting, which one of the Lilowing i the

ditference hetween gross sppropates end m appregates !

(23 The valoe of net sndire 1aves

l:h} The value of consumapliom ol fixed copatal

to) The vabee of intermediate consumplion

1dy The vatue of hnzl conswnplion cxpendilurs

The Prisener’s dilenima

1. 15 a game weory concept showing the dizadvantase. 1 ot
b able T resch binding, dgrecments.
hassipmificant implications on the bebaviour  Fthe oliy polists.

3. explaing how rivals hehaving sebfishl st nirarny o their
terwebuesd or cosnmon intereses.

4. izadoctrme developed by §1 Domar s sichespl s e incontive
L chzad by a member vf o ol

Which ol the statenments caven gl

fap I 2 and 3 Sy xd 2 oabky

feh 2 and 3 oonky i 1. 3and 4

Whicheac ol the follovme fo - a5 wi' lead 1o shifl i the demand

eurve 1 e pigit

(253

urs worree 7

fa}  Ihetreasc an the rier of ¢ product

(b} Inerense 3= tho b oM 0 Uie consumerns
fo} Decrer cint prics o the raw eatensl
{d) Derree 20 che © ooof the substitals

Which . o ame pet 7 v ipllowing propesals waeld zor be swepporsed
by the . ply-siu . _conomiss ?

T Dddem e the personal income L ke
(h) ~ iRy ase i the welfare benefils

=) AL reate in the espitad paios G il

{u, Aninerense in foreign aid

Raku is faocd wath tie problom of selecling iters for consmer prive

index The index nwpder s cuproled g measee the poperz| changes

mile price level of 8 group of commeditios. Wiich of the quaiing

qualities lested below should be taken care of by har 7

b T ilems shoutd be represeotative of 1he stes, Labils, costoms
and nevessities ol the people Lo whom Lhes relas

T Yhe items should he adequate inooamber and importance,

1. The iteras should be maduralely priced.

Seleat the comett answer wsing the code gj\.'cn bef o ;

(ay L. 2 and 3 13}

el | oaly (d)

The profit maximizing monepelist s in squilibiiom where

{a) FElesticity of Demand = | b} Elasticiy of Demand = 1

(e) Elastuity of Demand <0 {dy  Llasticity of De A

Which ong of the following is merd Gorreet r2g

Five Year lan (2007 -12577

I and ¥ oniv
2 and 3 only

g the Fleveuth

{2l Tarpetzd GRP giowth male is 9% pa.

{b)  lncrementad capital ewpet mtio i3 4.1

1) Share of the Sates in tolal pubdic sector surlay is more than
thai of the Cenltre,

{d) Aimz a1 rapid growth thai reduces poverty and creales

employmend opportanlics.
The gains {rom nlernationa rade depend on the
1. differences in cosl mfios in the (wo leding coomines,
2. lerms of trade.
3. size of the couniry.
Sedeat the correel answer using the ende given helow

(a} 2 and 3 ooly (by L and 2 only
(ch 1 and 3 only (d) 1,2zand ]
Consider the information given below -

Price Demard Supoly
(B}, {tonmesianmem) {{oenes/annum)



P 3]

97

a3

04,

5.

™.

]

99 Coensider a

2 H) S0
3 Rt ZIHH
4 Mo BEH
3 afln RiHi
h S0 i
T 00 TNt
b3 00 I

Suppuse the govemment 2ives Ve firmms asebsidy of Bs. 2 porwnit ot
e ponxl, what will be the pew eguibiloiam gprmeof e ol ?

{ay Rs. 5 (b} Hs 4

[c) Rs (i) Hy 2

Ad vaborem tax s baged 1a)

(2} ineome. () reab vale of oo
fc} sooney valve of goods (] wolumz of poads

02 finms average lolal cost i Ba 30 a5 enits of outpot and Hs, 4

m feunits of outpyt, wligh oov among the following i ihe mannal

wirit of producinge 1he 6™ ot ?

13) Ks? th) Rz 12

ey Keo 32 ay Rs 42

The Lfe cyete hypolhesis ol consumption imglies tlal consamipling

i related w

130 price expeclabon over one’s Histime

ih} Iransitory o,

(e} permanenl meome.

(3) expectal Hletime incomes

Whkich U ofF the Tollowmg s wnemphanaent rate?

ta)  Porcenlage of mermploped tr toetal popalagien

) lerecnisge of uoemploved lo todal labour Force

el Pereentuge of wnemployed (o total workferee

(Wl Percentane of wocrproved o betal peesees oot i labpar Torce

Whun price elasticity af demamd of @ el is preater than one, theu

experditine oo the goid

(] rises with a price fall,

(hi dectenes with a price fali

(o} rises with @ price rise. ;

() renumns the sane mespeetive of price rise or foll,

Tronsiction-precas! oy gomand for manoy is

[a}  pesitivaly refared o both bevel of income and 1ate of 6t

k) neratisely related w0 botl devel of meome and miee of 0 oress

fel posilively related o e Jevel of imcome and negatively e o
L the rate of interest.

[y neeatively refated 1o the Jovel of incame sed g i 'y rolates
lor the race of Dierest,

Assume that the denivid curve for compy oo {01 slopes

dovrweareds and thie Sl_';'l|r|j-' curve slopey [ rids. ' e P ol

plavers decreases, then, cerorin poreibus

G} the equilibrum price of CL3 il tail

(hy  theequiliboum price of CIY wib Jue

oy the eguilibriom price of O wall | a the . Lme.

b nonwe of the abive arc con

Which of the following eta. ~ente with . zard 1o the Natenud Rural

Lmployinent Guarantes » ¢ (N, I, 2005 asfare commeet 7

1 ihelegishation skes e Govermoent bepadly hoand 4o provide
cphoyment 1o e s 3 seek L

2. Asadivne man Fied soder e Act, the Sampoorns Graneen

Rozgar o qanay. - omatically mereed in the NREGA
Selecl v cer el asgwer using the code piven below ;
@y 1o i 2 only
{c) th o o=nd 2 (dy  deither T nor 2

wmer whest consumption baskat contazns only rwo
puinds X oand ¥, 1is budget is sech thad 1F he spends his eotdre income
on Lhese two goods, e con purchase 4 unisz of X and 6 enits of ¥ or
12 umits of X and 3 units 0f Y. I be sapends 211 his incon on gt X,
how miny units of X can hw buy 7

{a 7 [ I

e 14 4 13

0. Indiz has wimzssed a numbar of acew problems

tmmediately prior to implementation of scensmie reforms in early

10§,

(Type of bodge deficil)

srmre s

lneuneaniscalle ?

fusy  Fnduserinl backwardness

by Badancesol-pay ments cnsis
{c)  Backwardnessof agricultone
[p Shurtags of fwadpraing

Lhbe amverse demand funcston fier tea 13 plven by P, = 18- 3q, where
#y e prve o mpecs for 2 B0 pmopacker of wa ol g, 15 e
quantily denrded The inverse supply ourve s wiven by po—- 6400
Mow, suppesie the gevernment decides 10 give a subsidy of Rs 2 pes
packat totea supplicss. what will he the new colibrinom price {pland

quantdy donaded  {g) by consumers  ofter  the imrodect
uladisidy 7

{al p=3, y=4 thy p=75% q=14%

) p=9% -3 (i p-93 -3

2. Mateh ListDwith st 1T and seleet the correct answer weing .~ cods

riven helow the lisin
Fint List It

[Measuremen! Af o o)

A Revenne detici b Gap beiween lo . expenu. and soral
Teca LS
15, Pescal delicit Ao Biuoss oborevs we ex caditure ave
Pt s "o s
L Primary etich FooFioe oo Tt less iercst paymens
o Budgelary duficit © 0 D ocrens o Between revenoe roceipts plus
er S oaon= bt capital peceipts and
e bt txapenditnre inch.u_!:u-é HAEL
el { r!.':.'l“:\"'!!'h.'[l'.‘i
Code
A i ! 17
{0l ] 1 2
it 2 ; 3 |
1) 2 " 4 1
fein 1 4 3 7

HE dos “ehoen of the folleaing eategormes of Tanners was Uhe P

lor ey izl ol overdier extended crder the Agriculreal 1cn
- tver and Debt Bedicl Schenme o the Union Budget 2009 - 147
(ad “armees at land

(h}  Farrmers having upto e and o half haetares af Tand

L3 Farmers lisanoounio owo hectares of Jund

(d}  Fanmers hoving more than two hoclares of Jaod

Tiawing wpbn o hoclare

1. Ansuming constant returns to scale, if all the thres faciers X, Y sud

£oure panid avoerdm g o their marginal  productivity then the Faler's
thesrem imipdies

{21 = MP, = MP ¢ ME

() O MiP, 5 3 M x Y MY xS

() G=MPL Xk MP x Y« MP xZ

(d) Cr=MP x 6+ MP g Y e MP, x4

105 Durirg the year M908 - 09, in dadia there Ims beeny a dip in the EraLl

re ol CLF from 9 per cent 1o 6-F per eent Among the follouwig
sectors, which seciar registered the highes fall 7

{a) Mining and quarrying

{ny  Manufaclring

{o)y  LConstruction

fdy  Hleclricitg, pas and water supply

106, Does the imdes number refloct only approximate chanpes in the

refative fevel of a phonemenon ? Why *

(o} Yes. because there is no anique Tormabs,

(br  Yes. since index numbers are computed from sample data, p}
wrrors anherent in any sampling procedure creep inlo ics
CONSIRIETIM

[t} Wex, bocause weighis depend on subjective selection,

() Mo, ilthe index mumber satisfies the te0s for adaquacy, it reflects
accurate changes,

107, Povery pap 18 i

{a) sum of the difference borwesn the poverty ling and actoal
imcame ievels of all people living below thal fise,
(b} sumofthe difference betweoen the poverey hine and actual incene



(LS

1y

(S

Il ol al! poemide ivinge shove thal e,

fey aam ool the diflerenoe hotween por capiia maorme and actual
ireonm.

G dilTerenee bepvett finitser ol perees shoeve pevers fine sl
errhur ol persons below poscty ding

Which oot ther Tablevair re i pransibioe o & ol e liein Finn

1 lrerenise m moency =upply seith the public

2o he rae wthe lovel of incomes

g Plas lalt oot g ! s izl

Boienl L vemelt answer wsng the codde g Falonw:

[ish bl Laued 2 ondy

fe W 1 randld

Pl wsvcrse domand Curves tor o gprolil s cing deserinnls
et who sells e p

il
Fonly

E 1

it i b subesrara sy o glvean py

200 g, and p, - . T mdal cond fomction e fy, toygh
G, Wl b e fovels of st a0 oo subemiarkels 7
(g ow, AN33and g, G467
el 6T and gy, 1H-G3
i ¢ Pl o7 sl g, Adete ]

':'i'.I o, 3 Alamdy, Fe6T
_Ciivgn,

hentiad Levet of

Fagm i salaomal weoons R Y0 cromes
fulal Asboonsanns

Hirvesdment (1) 5.
Commnmption fonciiv {47y

fudicrs, ¥ Matonal Moy
Pl

Whal el b the pewe level of squilibring nationa
rvestyriens s perema | v By A0 cooree 7

fab Be 2o (hy  Ha 0% croins
(i 5 Hs 270 en
ttineh e n) e Jellowing statesients refers o
{1}

[

T

vt exisdencs of high rote o inflaties o 1

Aotk

[t T T T H YRR AT (L

thh & process of revers:n [IRCTTA I G T T

[ splowment end relpens

vy A palics ol medcmining rising prices and 2l o puilthe: e
vt owl T 2T son.

A Acsizoation ol ! wadinn g \'\r'-rl.!i.'-:i'}'rl:_‘u-'.! BRI r|["_)'1.'|-_',..

st by deficreney of eficotive domand
tunital dovpening cemiss
ap g resall of pepubition presth
A in L

whien there is ao addb ool o amls on

whoen Hie ritte of roburn feoneeapiiab s cpen e read e o)
intereas,

Wl when the roal '« parribu,
Crveen below aire infir ay we-homme pay ol
i employes and cumsmier 0 L L iy {r yaan

Yo 200 :
Wockly o e
take-home pay {80

il o

L0 C D

i
| 38,10

200
13540

L

1 Hh 41

theeme, F

[BES

1145,

L nansier PL2E 12740 14350 14980
BTl ifles

P aediicle s e the conpioees e the haglied
T TN iy a2

fey i3 (dy 2000

The coomomas rent carmoed oty Factor will b husmbeest iF s

IVITE peviver

clesticity of supply i

in] o thy  benveen rorp and one.

fo] ool s oh Gl indieie.

Aconrtte's oflor coree will be siraizhe B salien s preoe elaslioiy

el mppdy o cxpon 1s
Gl sy birpe.
i)

unary

gl e,

1}
1)

FAMLEN

it Censider e el g Stalements -

FET. A prersicn o cammirg s 2000

[is.

119, What

121

Accosdig

B dndia spemds more than § zer cend e s GDP = Hew creh and
Hovelopiment (i
2o Dmdia's spaending on K& b mrelaton o 40 hasiner wedinthe

Jridmg o o

oo R e redanon e

i Ty e psoves b U he, Lo

Cridt 1y v
Wioch el ihe slalerments gisen
angd 3
3"‘|':

FIETSCRE, Th
IE]
]

Pl Gonly

il

corar ath o B prescat b wml con
airthars the mext jeh, Wil ore

ctively

050 I

cHrm 3 mmaamwn ef s o Hin

nis sooneme rent o] § S5O mTIGETs Tes

(it} Ke L EON ot § R (Y K, 2EY g Ra, 2000
0] Ka M T Ly Es LADO and s 3,800

sz ol the fodlewa

=l marchanisin w
st bring ahs

=

b [ PG T R ut adpstment oot

S H T T

i Iy

b se B e meney suppby, o itemal prices, il

oot stk msir g pnposds
actied 1 e micney sanpiy. falh Tetrigl prices, rrsing

wis wed iall; T HERTIES
3o i ersid prives, sising
T

Lyl

Weduetieg inoh

wvjuerts arad it
() Rethuctien o the
AN Bid RS NG inors

Sppis, mluernu] pricoes. Talling

menleiliy of e

n i he tenm

LA fanavemeal of o aeck credit 3 conibred Gndlslien
s} Promotion of price stibilizy and exchange sthility
el 1 ity waih the dislarbing eTess ol changes o e qranily

o foney On EMPOrEann seonomis vaisbles Tee Tncome, outpul
arad emphayrient
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